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Abstract

Development of automatic irrigation for durian by using Epan with Arduino
microcontroller bord Mega model, written program by Arduino software (IDE);
equipped with pressure sensor for water measurement. The automatic system starts
working from reading water sensor leveling (pressure sensor) for calculation
evaporation value (Epan), obtains data from wind speed sensor, air relative humidity
for selecting Kp, input Kc, Tree radius, mini springer flow rate, Durian water
consumption refer to the equation “Etc = Kp X Epan X Kc “. Calculated watering
time using equation “T =1R/ g”
After the calculation watering time is showed (min), signaled to open a pump and
solenoid valves, signaled back when 4 valves finished their work. The system is set at
the Office of Agriculture and Development Region, Chanthaburi-at Durian research
area. The experiment is designed to two modes, the first mode is autonomous, has
discrepancy of water level between 68.18 — 76.85 % compared with the Hook. The
second mode in manual, input Epan parameter, compared watering which calculated
by the system with the formular; with 0.000 — 0.013 % discrepancy. Test results at
flowering period until 5 months after the period show that water usage at farmer
treatment is 120.29 % compared to the treatment which equipped with the
automatic system. There is no significant in Durian production between the two
treatments but the healthiness, farmer treatment significantly shows healthier Durian

tress.

Keywords: automatic irrigation system, water evaporation, Durian
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Abstract

Development of automatic irrigation for durian by using Epan with Arduino
microcontroller bord Mega model, written program by Arduino software (IDE);
equipped with pressure sensor for water measurement. The automatic system starts
working from reading water sensor leveling (pressure sensor) for calculation
evaporation value (Epan), obtains data from wind speed sensor, air relative humidity
for selecting Kp, input Kc, Tree radius, mini springer flow rate, Durian water
consumption refer to the equation “Etc = Kp X Epan X Kc “. Calculated watering
time using equation “T =1R/ g”
After the calculation watering time is showed (min), signaled to open a pump and
solenoid valves, signaled back when 4 valves finished their work. The system is set at
the Office of Agriculture and Development Region, Chanthaburi-at Durian research
area. The experiment is designed to two modes, the first mode is autonomous, has
discrepancy of water level between 68.18 — 76.85 % compared with the Hook. The
second mode in manual, input Epan parameter, compared watering which calculated
by the system with the formular; with 0.000 — 0.013 % discrepancy. Test results at
flowering period until 5 months after the period show that water usage at farmer
treatment is 120.29 % compared to the treatment which equipped with the
automatic system. There is no significant in Durian production between the two
treatments but the healthiness, farmer treatment significantly shows healthier Durian

tress.

Keywords: automatic irrigation system, water evaporation, Durian
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5. MINAUINITVOINADDU 0.60 0.80 0.80 0.70 0.75
6. NM3LATEYLAULAVDIN 0.85 0.85 0.85 0.75 0.80
7. MIFUgNuA 0.75 0.85 0.85 0.75 0.75

* Tug9n153n1 1908 NABNUBIIZ AL EL ABSHIUYIMAITTEE MY nTUTRSUlmineg9@ELe Lo

nN3EAUNTEaNABN

NN : Agyuazaue, 2546
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s21d8U5n157398
- aunsal
DIIATLLALUULD (E-pan) , Ju 1 HP, aalndia 12v, Lﬂ'%"aq%’qﬁmﬁfﬂ, LLﬂaaUQﬂnSﬂu
ftusvuaunes o1y 5 U fufisw 2 19

- A5n15MAA99

1. Anwdimamniinaeudesnslfimesfiouuudneg  wagiinismvauszuulsiii
SolutAndougunsninuas 1Da-Ta lewlsii wuusag

2. ponuuLNazaiigUnIniiamnTssvelunn  Epan  wiewsvuumiuaunisliiity
snludAnounaaoulurioaujusinig

3. AeAsuanaaeuszuumuANn sy anluliRlagldrinisssmetlusdaslgnyiseu

[ '
¥ a A )

uauved 91y 5 U Tudmindunys Jauvameasuildsuniseununsy 2 15 aedl 2 n55u3s
U dg’
Al

1) USHnauanuigvesnensns

2) YsunautlannisAuans 100% v ETc Adnwinla

4. viudauani1svinuvesaunsallunlamaasy WU A1n1ssemeflaannasasdlaseuiiey

Y 9

[y [

uAiiInldaIn Epan wasgiu omanuwsiugweuaiesde, Usinanhiildand o, I
Uinauiely,  udoyaduaisive Wy enuauysivesiy,  ssdusiuaunen/d,
Ussiudnauna/fu WileSeuiflsuanntunnsinamieaia

5. 3AT1ENANITVINADY

6. A7UTIBNUNANTTANYIATY InviseuRanIsAL
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NAN1SILWALAUTIINE

1. M3PRNUKUUIEUUATUANSRLULRN1 TN

awu = a A 9] s s o & 1Y)
Q']U'JQEJUNLLU'Jﬂ'ﬂ']NV’W]‘V]Q%I%U@iﬂluiﬂiﬂEJUIVﬁaLa@iﬂ']Li%gﬂ LLag‘W@Ju"II‘UﬁLLﬂﬁﬂJ

WielsieruA1n1sswmedianaiainnisseue (Epan) eenududuanuiinea (Digital) Tu

ASANUIUNIAIUABINITUNVBINY (ETC) MUFNNITA 3 AIUILIAINTSMLNIRNNENNIST 4

wardinisiiuAndudseansnisldunveiia Ke (m1519 3) ielildusunanifignaesniuman

Fnswardsuldlimunzaniurisergremiseu (Welidueannen Fasiana Wusu) el

§19UN13YN9U Flowchart faguil 1 ssuumuauvilaninsaniunute-Un Juduazuudloy

st lauseuna 4 Tou fnduguwasinuiny (Rain sensor) wiadnuieulunsaliunnly

sErinafdinisliinszuuaznganisvinnwiui wagldwwwesinaiiusiay (wind speed

sensor) ANRIAIUTINVDINNNTATELAY LALLIULYDSIAAMUTUFUNNSIUD1N1A Waldlunis

\Fonen Kp A Flowchart faguil 2

v

ETc=0

SM1 = AnfidTlE

SEI’ISDT ARANDNS

daszive {E pam

sensorimAnAIuEIan

Kp

Sensor AR w:u"n'umm?

ETc=EpanxKpxKe

SM=5M1-ETc

;

St 1 Hp |,

SM<0,

SN fidruaald = SM1

Haura Tauariafinzary
o n

Jauan snne

e (@

A= dlar - faffwsaiudunGou
E i =UsrBvEnwesruuiiiin @5

q =2k sdretimiSifiatianes 94 L

1"’=.ET4:>(i)(l
Ei g

Solenoid valve

D

Solenoid valve Solenoid valve

) 3

Solenoid valve

L]

Sensor JaA
el Raim

\J

L

LY

JUT 1 ddun19vianu (Flowchart) 9esszuuauaudmnlusiinisliiiing

v
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Sensor danrmiaay Sensor SaA2MA
Start — = >
win (km/h)

2n1d, H (%)
i
Mo
|
\,res& No
S =
Mo |
<> |
| .
o) (o] (o] <>

yes

bl ¥
|Kp:0.45 ‘ | Kp=0.55 ‘ | Kp=06 |

LY

SUT 2 drdumsvinnu (Flowchart) anen Kp

2. Mmadgulusunsundvnulalasaaulnsaiaes

yanruaNsaludAnislifiedldvesalulasneulnsaians Arduino 3el4Tusunsy
Arduino Software (IDE) lunisi@eulusunsumunusine gasdsutsoandu 2 g dil

Al 1 1¥nruAs Arduino 3u UNO ile3usainiadesinaanuifian deasdeshanuiu
AmnuiEiaunasn 24 $alug

yail 2 l¥nruA Arduino Ju MEGA Litefumanniauiesinge AU
Fodlifufinuazaumnailunada-Ua Judh Tnefddutuneunisyamuny Flowchart
giﬁ‘i 1 wazn19idenA1 Kp Ay Flowchart gﬂﬁ 2

nsvhumestsunsy awdluyliidondeuddiuys wu Adulssaninsliihaesi
(Ko), fainssj, Snsnnsinetnvesiadidauianes Wusu ndmindemavinusieg wéi
TWsunsuasaumudunouly Flow chart 1wy g1umannwmesInsysui (A1 Epan)
FuAIAILSIaL (wind speed sensor) 91nUB3A Arduino 34 UNO uazigulgasinainy
Auduiiieidend Kp ndiniulilusunsussnanafiofuiniianindadimiuanda

lgduseananmuaNlyunsiau
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3. MINAFAY sensor A9 KATATINTZUUAIUANDALUIIA
Tun1sadrsgarivaudnludfnislidafiy Sududeddigugesiiotnamieg Lile

o J

YIUIATUIMNAIAIIUABINISUIVDINDY (ETO) warseeziiailunisie - Uaduuinng

[

q

TagusvanAvesnwidey dau lumadeillayadunazidenldisugesviegunsaiiivigly

79981l ULINAEE UNBTE9UY TIANANAARUMUDS IASEAULN Aakandlun1s1en 4

A15197 4 WSsue Ui InseautnNveludannmive

Gl NANIINAZDU
. ERlIaRb U — —
il of Joide
1 s TnszauLh Soszeuile | dlolden
WUUResistance avdenrun | Aewlosay
0.1 mm. WnUisen
malniladl
2 wuesnssuLh el Snsvsuile
WuU Capacitive dorlesarlil | azBoavuin
SRR LTI | Aousfsen | 5 mm.
EEE = ORI | i

¥
(% o A

NN 4 WU WU aInsEaULNATe U dive 2 wuudneeulumansau?

1%

anldnulugamuaudalud@nasliidy Weuftgmnainufisemsliliieduas
aunsafaspiuildosBnlussduiiadiuns angiifeddfidon pressure Sensor (Ul
3) wuweisladingludundedily thanusuusdassevioassndaunsotasedui
15 cm Ssfivaaudniivanzay vinmeaeuluiesufofinisanunsatasesug
WasuwaslsaziBenvunn 1 faduns meaeudayelyinunuudeiondunm 3
s aliuffsemand mezlifduediihdudatud wagamalaiditeldas
Wasuuasiies vinimadeulnens Ja-Daluih lsidowinis catibration Tnsinnadsd
Pa hmsmasoumeuduiusvssalaiinfuseduih (mm) fagudl 4 wuinfissdu 25 -
55 mm. Slauduiusidudunsmiuaunis y = 5.0958x + 10812 ilen R? = 0.9499 &4z

Idaunsaenandlulusunsuaiunusaly
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() WU pressure

Sensor

11120.00
11100.00
11080.00
11060.00
11040.00
11020.00

11000.00

Al

10980.00
10960.00
10940.00

10920.00

10900.00 N

() YI9TLAUAINNAN

15 cm

(M) WU InTEAULN

NIDULIY

JUN 3 Wwwwedinseauiilagly pressure Sensor

10 20 30 40

Water level (mm)

y = 5.0958x + 10812
Rz = 0.9499

® Seriesl

Linear (Series1)

50 60

JUN 4 anuduiusvesanliihdiuseduin (mm)

6 o @ . a (%
NINAFDULLUYDTINAIULTIAN (Wind speed sensor) (U 5n) WAZHANITNAZDUIN

Al nudransadnausianladviiodu wes/Aud uian Kp as1eit 3 16an

AMMLSIANTINARTY LU <170 nu./3U (augeu) Fsdesvinnisusulse lneldszuuinseu

WUU Proximity Switch DC (3U# 5v) lun1siaseuifiiduiieliaunsainaiunisanlvd

oy nuAu e
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(n) wuwasinAusI5au Proximity

Switch DC

PRy "

@) wusInAMUSIaNLUUTUTaU

a XY < . t%
UM 5 e 3inAuLsIan (wind speed sensor) LUUUUTOU

Wieldadunimegeusasysulsuaugaianeg infeuldnuluganiuaudnlud@ngg

Tifivanuunudssun 6 Tnefadsgunsallviilugininiuiiuazindsuase

lulaspeulvsalaes Arduino wag gunsalineg Tugwaradiuiilinglu nsweusie

anglih anedyarausingg uazn1saduaudsgud 7 lnesayaasuaunistiiivnlud@

1 Usganas 13,000 vm (Wisauaninseive, gavutmay Solenoid Valve)

Senser Srmsfun
Pressure switch

Sensar ey

senser Sarmud
fnwdlugime

Buzzar Module

Aesl Time Clock Module

Switching Pover Supply 1

“Switching Pawer Supply 2

e

|

5

m

2V

Relay Module 5

2 charnal

Ralay Module 5¢

4 charnal

Pump 1 HP

Archuing UNG H |

5D Card Madule

= R
FF

Solenoid Valve 1

Solenoid Yale 2

F

Solenoid Valle 3

Solenoid Valie 4

JUN 6 uurRssyuuAuAudaludansiiiseulagldrmainaininsewe (Epan)
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(n) ArumihyaauANdnludFEnig () yaruausnludAnsiihfisuasseuulid
T

a' o wa DA o v a wa
JUN 7 gamvaudnluifnstihfianseunaaauluiosdjianis

4. wan1snagauluiasufjining
NMsnegauNSYIUsEUUAmUANSRluAn sl Tnadudluaindnssmelvtaiy
anuszanas 200 mm. Tdngve (Hook) dmsuinseauinlunininseiveg d49n153nsaue O-

100 mm. wazAmaziden 0.1 mm. lasdmuaseaudilveglugiaussunn 20-60 mm.

[ '
v

Youmsasietn nﬂmwﬁmiamzﬁuﬁﬂ %ﬁwmi%ﬁqmﬂ%’@azﬂszmm 30 Wil wavidnady
Tl nrsneaeunyafu 2 Mode fa Modefi 1 vaudalud®  Modefl 2 ¥91uuuy
Manual (Jeue Epan 199) kagn1snadeuiisdas Mode ladrnsnes sl ke = 0.5 (n3fn
Ka), Mini-Sprinkler flow rate = 150 An5/91139, Tree radius = 2.2 W5 Gananisaaouls
wanesanssit 8 Aunianuan n)

Faarnuanisnageulunisieit 8 nuin nsiaseduIaaInazee (Hook) T2s58U
7 22.4 - 57.6 mm. WisuieuRusziuihidaldannwueestanuuandsty Wetdhuids
AmRaAAABUTB TR SsER UL avldUsyanal 1.75% - 27.03% waiisysu 61.3 mm

[ v a 1

a d{l = I3 a .:4' [
finAuAaInLAGougeda 51.35% raduinsivseauiinfundiveuwaiieanwuuld @
TURDUNITODNLUVLAZETNTEUUY Ansnadoulrulesinszaulilagly pressure Sensor 7
SEAUN 25 - 55 mm. wagldldanunisniuauaaing

HAN3NAERY Mode?l 2 v euuy Manual Inetour1n1sseine Epan ssuumiuay
o va o ° v % A o v vy a = o A
dnludfAvinisaruianainisiiuitagidediaainishmnlaundisuiisuiunand

AlaIngns nuddanuuandeiunelidunn uagillednamaiaunaiaaiouls
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Tu999 0 - 0.04% FemuunnssiioradunauiannisauniilsunsuAanainisyinay
& a aa o 1 [ S o Y a a g o
Julladiuiidlewdasmnheiduwnd iliAanstanateuveswiala
FanN15vnulagINvessruuAIuANdn ludAn s vaunsaA I USINMLAL
VaINsNeNges Epan lauasilivihaulanuiieanuuuld
5. wan1snagaulsEAnsamszuuatuaudnludlunuasignyiseu

[
=

insneageulukUasianiieueiy 5 U dszeen1suagn 6 x 6 luns 91y 5 U Wuil

F1u3u 2.5 15 aAudIdeuasiaiuinisinensiunys (5U9 8 n) a.ugu1y 2.3unys 1n1s

ponuuusglmiuaziauusianlas Asgun 8v elUSeuWieunssuds (T1) Ysuiaunislmi
LUULN®ATNT AUNTIUIS (T2) YSunahilidsuinainssuuauaunsiidinsdnludfla

lgAnsszive (Epan)

(%

(M) NuNLlaavaaey (V) WU UAINAZBUNS DY

syuulsin

5U7 8 uasgnniseunldlunmegey

ihnsAndassuulmihuwuuitialsenasuasseuuauaunisimiiysnludflag

a

lgrnssvive luwdaslgneunseunaaauiiomuseansninlunisiinu dagd
9

24



JUN 9 sruumuauanluiinsiiimniseulagldarainaminseme (Epan)

Tunsvaassil fideldduiuldmuauiiadodeg Infiauminfeutu wu n1sgua
TatJosnen maemaunivauduuadslunisliimiton lnevsaosnssuisduandatuansy
Ui lliluusesnssudtuindy Jinanlunss®si 1 inwmsnsagliiiadsay 30-60
u'ft Seaztusganunelavennyninsied dauviinasilunssndsi 2 ssuuamuausnluif
sl %ﬁmiﬁwmmmmﬁmmﬂ%ﬁ;wamL'%‘aummaumiﬁ 3 fio ETc = Kp x Epan x
ke Tumslfnussuumuauslud@nisliig fhnsmasssfmualifinisiauly Mode
7l 2 Ao vheuuuy Manual Tneteurnisszme Epan 35lu Mode 7 2 nanmslindissuy
AuguAualdfianuaanndeuifios 0-0.013% Weiisuiunaiiiduinliaingss
(PruAmARFouTsInA N INMIWamhenaTlidunfussiinstammadon) way
fogatufinnmsvhauvesszuumugusmluiFmluulamaasy uanslumsisil 9 (AN )
nsvialy Mode 7 1 vhaunuudnlusfiid wuwesaziadinisszmetluaia Epan us
dosnarseiuifidaldfidaunainiedou -68.18 - 76.85% lawfivutundtfnldain
#zUd (Hook)

lugassgniteinisneasslafinisiiudeyanisinuenloninen wu Ysuiaeu
gaungil Avududiivdlueinie udu Aawanaluzy 10

ynsfuteyauaziufouiieuuiinaiiedeilfluurasnssuds sewinetud 15
ua. - 15 9.0, 64 FaduteivEoubueennonazieszozndieennon 5 1oy (Aunanan)

AaandlumI$199 5

25



920 500

459.8
20 = S 450
_—
. e 400
_—
350
50 304.6
W 300
50
250
40
200
30 1482
Y L L L L A ?’r----’"-- 150
20 - s wm nwn w- =
76.6 100
428
10 42.8. 52 " 50
| |1 53 6 a7 - 6.18 1/ 223
00 0 : . _ :
o [ 7772 , A |
.0.-64 n.W.-64 §i.p.-64 11.B.-64 N.A.-64 f.u-64
] e as(mm.) E eluade(mm.) Fr77 dauauduieluan
a = a s = & o oa
OUADIFEADIANIATIH) = em @ DUAATAGHADIFNVALTOH) e ATTUTUFUTNG (%)

JUN 10 anmQiionnia o AuIuuasiauINITNEATIUNYS 1 1A, 64 - 30 f.u. 64

A15197 5 USUnauiede il unsaznssuds (Seuinaiud 15 1.a. — 15 9.8, 64)

U T1 Gunasninede/du (Gas) T2 Gunasninede/du (Bas)
UIIEAT & deg v ¥ & o a 14 o a
Aslin | damsa AU faLiau faA39 AU faLfau
15 4.Aa. - 15 nN. 64
. - 13 183.55 79.54 2386.16 69 29.9 897
789NN 1 LHau
16 AN, - 15 l.A. 64
- 10 168.13 56.04 1681.33 172.11 57.37 1721.1
18998NABN 2 LAY
16 4.A. - 15 1.8, 64
- 8 130.83 34.89 1046.64 183.62 48.97 1468.96
718999N9ABN 3 LAY

16 1318, - 15 WA, 64 v v 4
Vunstidifiosanedunn
1eNeanNmsn 4 LAau

16 W.A. - 15 .8. 64
. - 3 165.04 16.50 495.12 192.01 19.20 576.03

18909NABN 5 LAY
994 34 5609.25 4663.09

VMg - 15 1.0, 64 NiSYULSUDBNABN

- AAUATUN 18 N 64 NFINTTN 2 AuISEURANIDINITUIAUY F9l¥iUY 200%

Y9A1 Etc
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N91597 5 WuANLLANATRIUIIA LR sk 3 suSoonnonay sy
n&ivonnen 5 Wou n3suds T2 MUsinudiade 4663.09 ns/iu axlditiosndnuile
Wisuidisufunssnds (T1) veanuasnsléuiiainaie 5609.25 Aas/du ddldiinunnndd
wioAnlu 120.29 %

uilutasinismaasanuirlutudl 18 nuaius 2564 TunssuAsi 2 (T2) duySou
Buuansormsviat §issldudledgmlneduuiinaidu 200% vesr ETc ol
uanszvusesunFouluszezen Sansliinlaglde 100% vesdn ETc Tutaausneraliiios
sonudesnsvemiFey shlieinsunnt vilinadeusas awngdndsenisiie fvinis
naaadldan Ke = 0.6 (Fraamnnsnsis fu a1v) andeinasatieng luldusuasue
Kc voefialimnanzauiudi9ian 1wy Ke = 0.85 913n15Lasgytaulavesna 91avilinns
ﬁwmmmméfaqmiﬁwamLﬁauﬂmwmsﬂfd

vhnsfiuteua Ussidiudnnunon/du luudasnssiisamumadaiiamunlaogudide
fludungd TaomsdautanguismBousenifuvuiasiie Tiud Tug) nans uazidn muvune
Wurhgugnans shnsdududnnudenenyGouuuiusiazauin dnudsngurensnsonidy
YuRene wazduiiusuiunen/Jenonudazuunn uddahdeyasuiuiausazaun
Suuvenenusiazun S1uausen/dendunaidudiunentiaiu maned 10 (manuan

) azUNANUWUSIUIBUNSEDR P9t LUSEUMIBUNEINBNUIUY MEIRDNUIU 3 LADU LAy

P1inua kanglumIsI9n 6 NUINN9EeINssNIs liTlNuwAnA1eiuY

A1519% 6 WUSHUIBUAUEITINGINIGEDR

YAIRANA 3 LU (Wa/ y

N331735 NSINDAUIU (ABN/AL) i Umtnua (nFu/na)
T1 22.00 1.60 3323.86
T2 43.00 4.10 3179.00
t-test 0.198™ 0.335™ 0.130™
NN " fiarauansstudisysutiodndny 0.01
" fauusnsnatuisyauiiadday 0.05

"s 19 i ANULANANAUNIEDR
a v % aa A ' ) Y] =~
NUSUIUNITIAUIYDINTTUATA 1 TUT19NRIUINISUDINANAIDBNABN 2-3 LABY
USUunsUsEUnel 34-56 an5/A1/AU kagiiloiUTeuieununssuasn 2 Trunussunm
Qdd‘

48-57 Ans/Au/U T9lUA999Na17 NFIUATA 1 TNISARNE 1.6 WA/AU WALNSIUIDN 2 ARNA

4.1 wa/siu FanrshidludSunadenan wui nsssdsn 2 dunSeuiianmliauysalidesain
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'
a

T ldiiisane diunilae1an1andsnnunsianadeiuuInnINgsuIsn 1 Ussunnd 2 wih
mngNIsANwIUTIIUNIslNEeuTes alinsuazane (2561) Tugan1siauin1svena
sy A5t 100 Sns/du/u AsiuuSunaliveanssudsn 2 Jenalidifisaneluds
MsguianadeUinunslidlutisiinanagdesduiusiuinanansia/fu
[ ¥ a A ~ o 3 Y
nsiiudeyanandn uandlunis1an 11 (nanuan n) wagkandlugun 11 dnwin

NANANUIUSIULAEUNIEDR WU NARER WTPNLLANAIAUN AR R wandlun15197 6

(M) Wawdm T1 wladnunsnsg (@) wawan T2 1911100% v ETc
AMuIndle

JUT 11 NaiSeunuaunaavivaaInssuis (Auismandn 15 fiquoy 2564)

fnsUssduanmanuanysaivesiunSeutaumsnanodluiudl 18 n.e 2563 1
a09n35uTB (JUA 12) wazthunSeudisunnuanysalvesfunuinlifiruunnsieiuns
afid fauanslunsieil 7

MsUssuan LAy saivesiu S oundnsAuReInanaaluIudl 31 a.a.
2564 wagthanIeuiiisunsadin wui nssudsd 2 Sawanysalvesiuteniingsuish
1 Fowandlupaedl 7 Seenuanysoify drunilenanUimani fliuasSnumenan G
uiluthanmsiimuna Aevdsiona 2 Weurudafuies mslithweanssidsd 2 axunnin
wigansurunanSeulunssndsil 2 assnnniuszana 2 wh feluiinashiflies

wnnIuandslaiiieans Jeilisudanuauysaiiosndy
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(M) T1 LUaNEATNT NDUNITNARDI

(A) T1 wUagsnu¥mIng MaeN1sNaaes (9) T2 wladseuumuns 1aINISNARDS

SUN 12 ulaaUgniiseunaulagnainIsmaaes

a a & v a ' )
ANTNN 7 AZLUUUTEIUAMNENYTUAUNITOU (%) NOULAZUIINITNAADY

N335 NBUNIINAADY (%) NAINIINAADI (%)
T1 82.84 86.53
T2 83.79 74.84
t-test -1.773" -29.607
RUELUG) " fanuuanenstufisssutidday 0.05

17

™ sifipnusanenatunianm
ApuUNISNAaRY (FUN 18 N.8 2563)
pRIN1SNAand (JuN 31 d.a. 2564)
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ayUnan1sIdeuazdaLauaIuL

anduldeinuasimnssuldiaussuuamuaudaludinislidmideulagldaain
a1n¥asewe (Epan) lnglduesalulasmaulnsaiass Arduino 1 MEGA Weulusunsusie
Arduino Software (IDE) iglfanunsaduinuiinuenudeanisiivesiitlagldgns Pan
Method uagdinsiardudssaninislithaesiin (ko) thunsaudelinisduiumani
ﬁaqmﬂﬁé’fﬁgwamL%UuiﬂéJLﬁaqﬁ’Uﬂameﬁua'%q AIENNTS ETc = Kp x Epan x Kc wagauie
nailsh puauns T = IR/q wazlausuld pressure sensor Whfuwuwesinseaumh

ﬁwmiaméfﬁwumuqmw%faumamﬁ'LLUaQUQﬂwL%EJu f AUEITeLaERRIUINTT
nwnsduny3 2. 4uny3 Tuseninedudl 25 5.0 63 - 24 w.a 64 wuIMsvhaulu Mode 7 1
LU Auto Aszduihfialdnneumeesiuisuiieutuaitaldannazue (Hook) fan
AAAIALAGEY -68.18 T1 76.85% n3viaulu Mode 7 2 Ao vharuuuy Manual Tag
HouAnisszime Epan dsnsAuiamailiihiaiunaimndoutiostnndion 0 - 0.013%
spuumuaudludfnisimEeumunsodmananslhilEgedmehaouldaudis
fupoufieanuuuly

uanInaeUT v Seuinenaenisisszerndoonnen 5 ey wuiiUiinah
wasnumsnsildihiiunnndt 120.29% deifisuduulasiifadessuumunu Ay
Tu Mode 7 2 Tnofinanaslaifiruuandnaiunsedn wideSouiisueuaysalvosdiu
nFeundinimaaes wuiudasiiiaressuunuaue Sanuuanenenaadd TneduFeul

ANNANYIaiesnd
¥
VLIGIVRINIE

- AealinsNaUI U B S Insea Ut lATAN UL UEUNEITU

- asiinnsveasdlullastiie Al HNan1sNAanI ULy a0 e
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NIUIYINITNYAS. 2547, 1ONAITIVINITSHY NTUTVINITNYAT NITNTINNBATUAZANNTAL.
LONATIYINIG AIRUN 13/2547 1 19-20.
WYy MITUUTIA TAANE LEAUINIIA B9 9INTY UazaAny. 2560. Ideuasiauasodldle

[

muANATIERULUURENGIedmTudes. 1e91uYalasansIde U 2560. nsuivIng

LNURT.

a a aa a a LY

ALIN M89931U ANy Aeneana W13 58T wazdndquns dunia. 2545, NMTeRNUUULAY

q

o a

waluladnislihiie. WigSgmsfunt ngamme : 57-92.

Fsema deauysal. 2509, nslduhesiie. lenansusznaunisusIsIendngnIn1sUulse
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M1319% 8 HanedeuNTYIUTEUUMIUANSRludAn sl iyluiesU URnTs

syfuthiiaanezee | sedutiisaenn el
ANUAGTA . ‘. nan
(mm) a3 (mm) 4 P o3 wm Ly 4 |P8AAIN
. ARPUYBY |AINTU . Wi .
a1nu .. M3 | Saimse | A | LARDU
. wuwes |dins | Kp | Ke |, | | AU
7 L. et | W (m) | Ineszuy YOI
flgu | nde A1 Epan| neu | s |1 Epan| 03zAU | (%) loggns |,
v (/h) ATUAY i (%)
11 (%) (min)
(min)
1 61.3 | 57.6 3.7 57.7 | 55.9 1.8 51.35 81.1 | 0.7]05 150 2.2 4.51 4.51 -0.10
2 57.6 | 53.9 3.7 559 [ 53.2 2.7 27.03 814 | 0.7]05 150 2.2 6.76 6.76 -0.02
3 539 | 48.2 5.7 532 (474 5.8 -1.75 81.6 | 0.7]05 150 2.2 14.52 14.52 -0.01
q 48.2 | 41.3 6.9 47.4 | 40.8 6.6 4.35 799 [0.7|05 150 2.2 16.52 16.52 0.00
5 41.3 | 35.2 6.1 40.8 | 36.0 4.8 21.31 874 107105 150 2.2 12.02 12.02 -0.04
6 352|294 5.8 36.0 | 29.1 6.9 -18.97 88.4 [0.705 150 2.2 17.27 17.27 0.01
7 | 294|224 70 |291]210]| 81 415,71 | 903 [0.7] 05| 150 2.2 2028 | 2028 | -0.02
8 | 224|150 74 |210]|124| 86 -16.22 | 902 |07 05| 150 2.2 2153 | 2153 | -0.01
WUNBLNG a1l uIalagssuUAIUANY LnaNN15YeILll Mode 2
- 39 9
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M1399 9 HanedUNTYIUTEUUmIUANSRludAn sl ilulUameaes

‘ AUAAIA . nandiliig L AUARIA
A1 Epan (mm) ) AUTU omsns| Sedl naling )
. LAADUVDY . L ‘ Annaley | LARABUTDY
anuN seuthitsa | seauithilse Y U | Kp | Ko | 918U [vsewy | ATUIUIN .
UL In LASDIAIUAY . TUswnsuAIun
PMeTe | nuges st 06) (%) (h) (m) i) gn3 (min) e o

25-5.m.-63 7.7 6.3 18.18 74.2 0.7 ] 0.60 94 2.5 a7.66 a47.66 0.000
28-5.M.-63 12.6 9.9 21.43 83.3 0.7 ] 0.60 94 2.5 77.99 77.99 -0.001
30-5.m.-63 7.5 6.4 14.67 74.3 0.7 ] 0.60 94 2.5 46.42 46.42 0.005
1-3.m.-64 7.2 6.8 5.56 64.8 0.6 | 0.60 94 2.5 38.2 38.20 -0.003
4-11.7.-64 123 7.7 37.40 61.9 0.6 | 0.60 94 2.5 65.26 65.26 -0.006
6-31.A.-64 7.7 8.1 -5.19 63.5 0.6 | 0.60 94 2.5 40.85 40.85 0.004
8-1.A.-64 7.3 8.3 -13.70 68.1 0.6 | 0.60 94 2.5 38.73 38.73 -0.002
11-3.m.-64 11.6 10.6 8.62 61.3 0.6 | 0.60 94 2.5 61.54 61.54 0.004
13-3.A.-64 6.7 8.5 -26.87 52.1 0.6 | 0.60 94 2.5 35.55 35.55 -0.011
15-3.m.-64 6.3 4.5 28.57 85.4 0.7 ] 0.60 94 2.5 38.99 38.99 0.012
18-1.m.-64 11.7 8.8 24.79 62.9 0.6 | 0.60 94 2.5 62.07 62.07 0.005
20-3.7.-64 6.4 53 17.19 56.7 0.6 | 0.60 94 2.5 33.95 33.95 0.013
22-3.0.-64 6.1 1.9 68.85 73.7 0.7 ] 0.60 94 2.5 37.76 37.76 -0.009
25-3.m.-64 10.8 2.5 76.85 62.2 0.6 | 0.60 94 2.5 57.3 57.30 -0.003
27-3..-64 5.9 3.4 42.37 81.4 0.7 ] 0.60 94 2.5 36.52 36.52 -0.004
29-4.A.-64 5.4 5.1 5.56 60.7 0.6 | 0.60 94 2.5 28.65 28.65 -0.003
1-n.w.-64 10.3 5.5 46.60 63.7 0.6 | 0.60 94 2.5 54.65 54.65 -0.008
3-N.N.-64 7.1 6.3 11.27 73.5 0.7 | 0.60 94 2.5 43.95 43.95 -0.009
5-n.n.-64 6.4 7.4 -15.63 57.3 0.6 | 0.60 94 2.5 33.95 33.95 0.013
8-N.N.-64 11.2 8.1 27.68 84.3 0.7 |1 0.60 94 2.5 69.32 69.32 0.005
12-A.N.-64 2.9 4.6 -58.62 55.6 0.6 | 0.60 94 2.5 15.39 15.39 -0.029
15-n.N.-64 9.7 10.2 -5.15 81 0.7 ] 0.60 94 2.5 60.04 60.04 -0.001
17-n.N.-64 6.6 11.1 -68.18 83.3 0.7 | 0.60 94 2.5 40.85 40.85 0.004
19-n.N.-64 14.8 11.5 22.30 62.3 0.6 | 0.60 94 2.5 78.52 78.52 0.000
22-N.W.-64 23.6 13.7 41.95 7.4 0.7 ] 0.60 94 2.5 146.07 146.07 0.003
24-n.W.-64 13.2 13.4 -1.52 78.8 0.7 | 0.60 94 2.5 81.7 81.70 0.004
26-N.W.-64 12.4 9.0 27.42 82 0.7 ] 0.60 94 2.5 76.75 76.75 0.002
1-i.m.-64 21.8 16.1 26.15 78.2 0.7 | 0.60 94 2.5 134.93 134.93 0.003
8-il.m.-64 32.2 13.5 58.07 78.8 0.7 ] 0.60 94 2.5 199.31 199.31 -0.002
10-i1.p.-64 15.6 12.0 23.08 84.4 0.7 | 0.60 94 2.5 96.56 96.56 -0.002
12-81.A.-64 15.2 16.4 -7.89 83 0.7 ] 0.60 94 2.5 94.08 94.08 0.002
15-41.p.-64 24.2 18.2 24.79 78.5 0.7 ] 0.60 94 2.5 149.79 149.79 -0.001
19-il.A.-64 32.8 259 21.04 80.6 0.7 | 0.60 94 2.5 203.02 203.02 0.000
22-31.n.-64 23 23.1 -0.43 90.7 0.7 ] 0.60 94 2.5 142.36 142.36 0.001
24-31.p.-64 14.4 19.6 -36.11 55 0.6 | 0.60 94 2.5 76.4 76.40 -0.003
26-31.n.-64 124 17.3 -39.52 78.2 0.7 ] 0.60 94 2.5 76.75 76.75 0.002
29-§l.p.-64 21.8 18.8 13.76 76.3 0.7 | 0.60 94 2.5 134.93 134.93 0.003
31-1.A.-64 14.4 16.1 -11.81 75.4 0.7 | 0.60 94 2.5 89.13 89.13 0.000
2-11.8.-64 14 17.2 -22.86 729 0.7 ] 0.60 94 2.5 86.65 86.65 0.005
5-131.8.-64 24.2 16.3 32.64 68.1 0.6 | 0.60 94 2.5 128.39 128.39 0.000
17-n.m.-64 40.8 = - 74.3 0.7 ] 0.60 94 2.5 252.54 252.54 -0.002
21-W.A.-64 a - - 78.8 0.7 | 0.60 94 2.5 24.76 24.76 -0.006
24-.A.-64 14.6 = - 85.1 0.7 ] 0.60 94 2.5 90.37 90.37 -0.002
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AN5197 10 NSUSLIUTIUIUABNLAY Fruit set

L, | Anuanysel | dueen Juean Tuaan Juean R .
sedu | % non % fan % fan % fan | furit set | Fuduna/diu
fundseanaan | aan fan AN aan
T1-1 80 - 0 0
T1-2 80 - 0 0
T1-3 5 20 Wy 63 15 15 u.n 64 10 16 1
T1-4 5 20 Wy 63 15 15 u.p 64 20 8 1
T1-5 70 20w863| 5 |15uA64| 15 22 1
T1-6 75 - 0 0
T1-7 75 - 0 0
T1-8 5 20 Wy 63 5 15 u.p 64 15 16 0
T1-9 70 - 0 0
T1-10 75 20w863| 10 |2mA64| 10 [15uA64| 15 28 2
T1-11 75 - 0 0
T1-12 75 - 0 0
T1-13 5 20 Wy 63 10 24.n 64 15 15 u.m 64 30 a1 5
Ti-14 75 20m8 63| 15 0 0
T1-15 75 20863 5 2um6d| 5 |15um6d| 5 12 0
T1-16 75 - 17 0
T1-17 80 20wm863) 10 |2um64| 5 36 a
T1-18 75 20 Wy 63 15 2.3.n 64 10 15 u.p 64 5 24 2
T1-19 75 20863 20 |2un64 15uA64) 5 4 0
T1-20 75 20w863| 5 |2un6d
L, | Anuanysel | dueen Juean Tuaan Juean R .
sedu | % non % fan % fan % fan | furit set | duduna/fiu
fundseanaan | aan fan AN 8N
T2-1 60 2um6d| 10 24 1
T2-2 60 2uA64| 5 |15uA64| 5 18 1
T2-3 65 15 n.y 63 20 15 u.p 64 10 126 19
T2-4 70 15 .8 63 10 23.A 64 10 15 u.p 64 15 142 18
T2-5 70 26 0
T2-6 70 18 0
T2-7 65 20y 63 15 7 0
T2-8 65 15 u.m 64 5 21 1
T2-9 70 25uA 64 10 32 1
T2-10 60 0 0
T2-11 65 2um6d| 5 |15uA64| 5 16 0
T2-12 70 2uA64| 5 |15um64| 30 42 0
T2-13 65 20 Wy 63 10 23.m 64 10 10 w.p 64 5 15 u.n 64 15 159 17
T2-14 65 20w863| 10 |2uA64| 10 [15uA6d| 5 22 1
T2-15 65 150863 5 2um6d| 15 |15uA64| 15 [20uA 64| 5 48 3
T2-16 65 208 63| 15 0 0
T2-17 65 20 Wy 63 5 23.m 64 5 15 u.p 64 5 20 u.m 64 5 12 0
T2-18 65 0 0
T2-19 60 101A64) 10 42 2
T2-20 70 20w863| 20 |2mA64| 25 20uA 64| 40 164 20
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dl a iO’ U a
A9 11 ANTUTELHUUIRUNHANER

T1l/Aguuuy.| uu.na(niu) NTINR anwayWus | nina ENINA W{usaulg nivlauiona |nivdasihng| eatea | swdianise

T1-1 -

T1-2 -

T1-3 3140 8 2 18 22 64 2.04 2.62 4.14 3
T1-4 3500 2 4 20 27 63 2.42 2.21 7.76 3
T1-5 3310 8 2 18.5 24 65 2.12 251 4.21 3
T1-6 -

T1-7 -

T1-8 -

T1-9 -

T1-10 1610 1 4 14.5 15 40.5 1.39 1.39 6.5 3
T1-11 -

T1-12 -

T1-13 4160 6 3 19.6 30.1 61.6 2.14 2.6 6.7 3
T1-14

T1-15 -

T1-16 -

T1-17 2806 2 4 19.6 21.5 60.5 1.81 2.53 6.1 3
T1-18 4041 0 4 18.5 24 56 2.07 2.53 7.4 3
T1-19 -

T1-20 -

T2/Aguuy.| uu.na(niu) NTINR anwayWus | nina ENIHA L&usauy aetaudina |niedaadna) endiwna | dwmdiainise
T2-1 2900 2 2 18 24.5 61.0 2.04 2.53 4.18 3
T2-2 3200 2 4 17 27 58.0 2.24 2.43 6.04 3
T2-3 2253 7 2 18.3 213 57.7 1.8 2.02 4.32 3
T2-4 2623 8 2 18.3 21 61.5 2.09 2.58 4.36 3
T2-5 3
T2-6 -

T2-7 -

T2-8 3420 8 2 19.2 275 60 1.86 2.04 4.43 3
T2-9 3380 8 2 18.6 26.8 58 1.92 2.14 5.12 3
T2-10

T2-11

T2-12

T2-13 2347 6 25 16.4 20.2 50.7 1.47 1.79 4.66 3
T2-14 4120 9 2 18.6 24.8 54.8 1.82 2.21 4.46 3
T2-15 3470 9 2 18.5 26.7 59.6 1.97 2.14 4.48 3
T2-16 -

T2-17 -

T2-18 -

T2-19 3640 9 2 18.1 23.1 52.7 1.77 2.08 4.43 3
T2-20 3260 9 2 19.7 22 63.5 1.94 2.21 5.62 3
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Tusunsuszuualuandaluddnisliiniteulagldaranaininseme (Epan)

#include <EEFROM.h=
int adr_spo_hun = 30;
int adr_epo_ten = 0;
int adr_epo_one = 1;
int adr_epo_pl =2;
int adr_spo_p2 = 3;
int adr_flow_hun=4 ;
int adr_flow_ten=5;
int adr_flow_one=6;
int adr_tres_ten =7;

int adr_tre=_one = §;
int adr_tree_pl = 5;

int adr_kc_ten = 20;

int adr_kc_one = 21;

int adr_kc_pl =22;

int adr_kc = 10;

int adr_smi=11;

int adr_sm1_begin = 12;
String dater = "";

String tter ="";

String sme ="";

String Kkc;

i

int adr_increment_ten_thousand = 13;

int adr_increment_one_thousand = 14;
int adr_increment_one_hundred = 15;
int adr_increment_one_ten = 16;

int adr_increment_one_one = 17;

int adr_increment_pl = 18;

int adr_increment_p2 = 15;

int 55 =0;

int buzzer = &;
floatincrement = 0.00;
int settime_begin = 30; //
i

#include <Q2HX711.h=

const byte hx711l_data_pin = §;

const byte hx711_clock_pin=5;

Q2HX711 hx711{hx711_data_pin, hx711_clock_pin};
float WATERValue = ;

int io;

long Whter_test=10;

i

unsigned long previous = 0;

const long interval2 = 1000;
finclude "DHT.R"

#define DHTFIN 2

#define DHTTYPE DHT22

DHT dht{DHTPIN, DHTTYFE];
flaat mm;

finclude <SoftwareSerial.h>
#include <Mextion. h=
SoftwareSerial nextion(10, 11);
Nextion myMextion{nextion, S800);
#define epan AD

#define rain A1

float mins = 0.00;

float Etc;

float =m;

float T;

float Ei = 0.85;

intts =0;
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char data[g];
String(eepa).toCharArray|data, &);
i
if [ eepo <= 5935
{

int one = data[0] - 48;

int pl = data[1] - 48;

int p2 = data[2] - 48;

EEPROM.write{adr_epo_hun, 0);

EEFROM.writz{adr_epo_ten, 0;

EEPROM.writz{adr_spo_one, ona);

EEPROM.writz(adr_epo_pl, pl);

EEFROM write{adr_epo_pZ, p2);

myMextion setComponentText]"t100", String(epan_old, 1) };
i
if [ eepo == 1000 && espo <= 5333 )
{

int ten = data]0] - 48;

int one = data[1] - 48;

int pl = data[2] - 48;

int p2 = data[3] - 48;

EEPROM.writz{adr_spo_hun, 0;

EEFROM.write(adr_spo_ten, ten);

EEFROM write{adr_epo_one, one);

EEPROM write{adr_epo_pl, pl);

EEFROM.write(adr_spo_p2, p2);

myNextion.setComponentText["t100", Stringlepan_old, 1} ;
1
i
if [ eepo == 10000 && =epo <=99995 )

{

int hun = d=tz[0] - 48;
int tzn = data[1] - 48;
int one = data[2] - 45;
int pl = dzta[3] - 48;
int p2 = data[4] - 4§;
EEFROM . write(adr_spo_hun, hun);
EEPROM .writz(adr_spo_ten, ten);
EEFROM . write|adr_spo_one, onel;
EEPROM.writeladr_spo_pl, pl);
EEFROM . writeadr_spo_p2, p2);
myMextion.setComponentText("t100", String(epan_old, 1) |;
i
/i delay{1000);

sec=0;

starts = 0;
/f EEPROM.wiritelzdr_sec, sec);
/ EEPROM.write|zdr_starts, starts);
/{ EEPROM.writelzdr_steps, steps);
i
i
1/ end millis
i/ end loop
void beep [}
{
digitalWrite{buzzer, HIGH);
delay(20);
digitalWrite{buzzer, LOW];
delay(20);

}
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Serizl2.printin['0");

digitalWrite{trig, LOW); // 3end to resat
delay(1000);

digitalWrite(trig, HIGH);

delay(1000};

settime_begin = 30;

enable=1;

}

if | bstart==1]
{

if | Serial2.availablz {))

{

String wind = Serizl2.readString();
Serialprintin(" start recive : " + String(wind)};

int total_wind1 = wind.tolnt);
Serial.printin" total_wind : "+ String(totzl_windd));
total_wind = totz|_wind1 * 0.0005024 ;
Serial printin(" total_wind ok : " + String{total_windl, 6});
digitalWrite[buzzer, HIGH);
delay(3000);

digitalWrite{buzzer, LOW);

startz=1;

beep ();

enable=1;

myMextion z=tComponentTaxt("t393", "Start!!1"};

g y &
Serizl printin(" Een

humidity = dht.readHumidity);
delay(2000);

Serizl.printin(" humidity 3"+ String(humidity)};

mins += 1;
zec=0;
/i EEPROM .write(adr_sac, sec);
/i EEPROM.writelzdr_mins, mins);
1
J{ tring ttt = "Time = " + String[mins) + "." + String|sec) + " ";
String ttt = "UT="+ String(tm, 2} + ",CT="+ String(minz) + " + String(sac) +"
myMextion.setComponantText("1393", ttt);
i Serialprintin(" mind =" + String|mins|);
i Serial.println(" sech ="+ String(sec));
/i Serial.printin(" Value 4-ON");
digitalWrite{sclenaid, HIGH); /{ value 1- ON
digitalWrite(sclenaid2, HIGH),
digitalWrite{sclenaid3, HIGH);
digitalWrite(sclenaid4, LOW);
1
if ( (mins + sec ( 100.00) * 60.00 »=ts E& steps==3 |
{
myhextion.setCompanantText["t5393", “Finish4");
Serial printin(" Value 4- OFF");
digitalWrite|sclenaid, HIGH);
digitalWrite(sclenaid2, HIGH);
digitalWrite{sclenaid3, HIGH);
digitalWrite(sclenaids, HIGH);
delay{1000);
Serial.printin(" Pump - OFF");
digitalWritelpump, HIGH); /{ pump OFF
delay{3000);

epan_ald = epan_new;

int eepo = epan_old * 100;
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flow_rate = sf.toFlozt();
myNextion.zetComponentText["t016", String[flow_rate, 1) J;
beep(];

}

if({bmS==1)

{
s += "5
flow_rate = =f toFlozt();
myhextion.setComponentText|"t018", String(flow_rate, 1) J;
beep(;

}

it bmg==1)

{
sF4="g";
flow_rate = =f.toFlozt();
myhextion setComponentText"t018", String(flow_rate, 1) J;
beep();

}

if (bm7==1)

{

=T

flow_rate = =f.toFlozt();
myNextion.setCompanentText("t018", String(flow_rate, 1] );
beepi];

1

if (bm2==1)

{

="

flow_rate = =f.toFlo=t();
myNextion.setComponentText("t018", String[flow_rate, 1] J;

beepl);

}

i (bm3=1)
{

4219

Flow_rate = sftoFloat{];

yNextion setC tText("tD16", String(flow_rate, 1) };
beepl);

!

if | bm_paint==1)

{
FI
flow_rate = sf.toFloat ],
myMextion.setComponantText{"t016", String(flow_rate, 1) J;
beepl);

}

if | bm_del =1)

{

=

flow_rate = sf.toFloat ],

EEPROM writa(adr_flow_hun, 0);

EEPROM write(adr_flow_ten, 0;

EEPROM write(adr_flow_one, 0;

myhextion setCampanentText"t016", String(flaw_rats, 1) J;
beepl);

!

Jf #{bm0==0&8 bm1==08&& bm2 == 0 &8 bm3==0 && bm4 == 0 && bm& =0 && bmG =0
&8 bm7 =0 && bm@ == 0 && bm3 == 0]

I
int flows = flow_rate; |/ 10-999
J[Serial printin|" flows= "+ String{flows));

char datas[S];
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}

if{bs9==1)

{

r+="9"

tree_radius = tr.toFloat();
myMextion.setComponentText["t014", String(tree_radius, 1) J;
beepl];

}

if ( bs_point==1]

{
tra=""
tree_radius = tr.toFloat();
myMNextion.sztComponentText|"t014", String(tree_radius, 1) );
beepl);

}

if [ bs_del==1]

tree_radius = tr.toFloat();
myMextion.setComponentTexe|"t014", String(tree_radius, 1) J;
beep();
EEPROM.write{adr_tree_ten, 0);
EEFROM write|adr_tres_one, 0};
EEFROM.write(adr_tree_pl, 0);

}

int trds = tree_radius * 10; /9.5 ,45.4

char datac[5];

String(trds).taCharArray|datac, 5);

if [ trds==599)

{

int one = datac|0] - 45;

int pl = datac[1] - 45;
EEPROM.write(adr_tres_ten, 0];
EEPROM.write(adr_tre=_ane, ana);
EEPROM.write(adr_tres_p1, pl};
myNextion.setComponentText]"1014", Stringftre_radius, 1) J;
}
i trds >= 100 && trds <933
{
int ten = datac[0] - 43;
int one = datac[1] - 48;
int pl= datacf2] - 48,
EEPROM.write(adr_tres_ten, ten};
EEPROM.write(adr_tres_one, ong);
EEPROM.write(adr_tres_pl, pl;

myMNaxtion.setComponentText("t1014", Stringltree_radius, 1) J;

int bmd = myNextion.gztComponentValuz("om0");
int bm? = myMlextion.gztComponentValuz("om1");
int bm2 =myMextion.getComponentValue"om2");
int bm3 = myNextion.gztCamponentValuz("om3");
int bmé = myNextion gatCamponentValug("om4");
int bmS = mybextion.gztComponentValuz("bmS5");
int bmé = mybextion.gztComponentValuz("ome");
int bm7 = myNextion gatComponentValug("om7");
int bm# = myNextion getComponentValug("oma");
int bm3 = myhextion.getComponentValuz("om3");
int bm_paint = myNextion.getCompanentyalua|"bm3s");

int bm_del = myNextion getComponentyzlug|"bm3s");

Mini sprikle flow-rate
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if(bs0==1)

i

fr 42t

tree_radius = tr.toFlost();

myMextion. setComponentTaxt("t014", String(tree_radius, 1) );
beepl);
1
i#bsl==1)
{
r+="1";
tree_radius = tr.toFloat();
myMextion. setComponentText("t014", String(tree_radius, 1) );
beep(l;
}
#{bs2==1])
{
tre="2"
tree_radius = tr.toFloat();
myMNextion.setComponentText("t014", String(tree_radius, 1) );
beepl);
}
if(bs2==1)
i
tre="3n;
tree_radius = tr.toFlaat();
myMNextion.setComponentText("t014", String(tree_radius, 1) );
beepl);
}
i(bsd==1)

i

tr+="4";

tree_radius = tr.toFloat();
myNextion.setComponentText("tD14", String(tree_radius, 1) );
beepl;
}
i [bs5==1)
{

tr+= 150,

tree_radius = tr.toFlozt();

myMextion setComponentTaxt("t014", String(tree_radius, 1) J;

beep(};
i
i#{bsb==1)
{

tr+="g";

tree_radius = tr.toFloat();

myMextion setComponentTaxe("t014", String(tree_radius, 1) J;

beep(l;
I
#{bs7==1])
{
fr+="7";
tree_radius = tr.toFloat();
myMNextion.setComponentText("t014", String(tree_radius, 1) );
beep(l;
}
W(bsB==1)
{
tr+="8";
tree_radius = tr.toFloat();

myNextion. setComponentText("t014", String(tree_radius, 1) );

beepl;
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K += "9";
kc = Kke toFloat();
delay(1000);

myhextion setComponentText("kt22", String(ke, 2) J;

beep(};
H
if | bkt_point == 1
f

Kke += ",

kc = Kke toFloat();
delay(1000);
myhextion setComponentText("kt22", String(ke, 2) J;
beepl);
i
if (bkt_del==1}
{
Kke = ™
ke = Kkc.toFlozt]);
delay[1000];
myhextion.setComponentText("kt22%, Stringlkc, 21 );
beep(};
i
int kcs = ke * 100;
char datak[5];
String(kcs) toChar&rray(datak, 5);
if [ kes <= 98 )
{
int one = datak[0] - 48;
int pl = datak]1] - 48;

EEPROM.write(adr_kc_ten, 0;

EEPROM.writz(adr_kc_one, onz);
EEPROM write(adr_kc_pi, pl);
myNextion sstComponentText["kt22", Stringlke, 2) |;
i
5
i { kes 2= 100 &8 kes <=599)
{
int ten = datak[0] - 48;
int one = datak[1] - 48;
int pl = detzk[Z] - 28;
EEPROM .write(adr_kc_ten, ten);
EEPROM.write(adr_kc_one, ong);
EEPROM.write(adr_kc_p1, pl};
myMNextion.setCamponentText|"kt22", Stringlke, 1) ;
i
*f
i

Tree Radius
int bs0 = myMestion.getComponentValue|"bs0");
int bs1 = myMextion.getComponentValue(“bs1");
int bs52 = myMextion.getCompaonentValue|"bs2");
int bz = myMextion.getComponentyalue|“hs3");
int bsd = myMestion.getComponentValue|“bsd”);
int bs5 = myMextion.getComponentValue|*hs5");
int bsf = myMextion.getComponentValue|"hsE");
int bs7 = myMextion.getCompaonentValue|"bs7");
int bzd = myNextion.getCompanentyalue|“hsa");
int bs3 = myMestion.getComponentValue|"hs3");
int bs_paint = myhextion getCompanentValue["bs32");

int bs_del = myNextion.getCamponentValue|"bs35");
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Kz +="1";
ke = Kke.toFloat();
delay[1000];
myNextion.setCompenentText["kt22", Stringlke, 2) ;
beep(]; }
i | bkt2 ==1)
i
K += "2
ke = Kkc.toFlozt();
delay[1000]);
myMextion.setCompenentText["kt22", Stringlke, 2) );
beepil; }
if | bkt ==1)
i
K += "3
b = Kk toFloat();
delay{1000);

myMextion setComponentText("kt22", String(ke, 2) J;

beep];
}
if | bktd==1)
i

Khoo += g

ke = Kke.toFloat();
delay[1000];
myNextion.setComponentText("kt227, Stringlks, 2] ;
beep];
}
i | bktS==1)
i

Kki += "5":
ke = Kke toFloat();
delay(1000);
myhextion.setCompenentText("kt22", Stringlke, 2) J;
beepi);
}
if [ bktE==1)
1
K += "6
ke = Kke.toFloat();
delay(1000);

myMNextion setComponentText("kt22”, String(ke, 2) J;

beepi);
1
i bktT==1)
{

Kke += "7";

kc = Kkc.toFloat();
delay([1000);
myNextion.setComponentText("kt22", String(ke, 2) J;

beep(];

}

if [ bkt8==1)
{

Kk +="3":

ke = Kke.toFloat();

delay(1000);

myhextion.setComponentText("kt22", Stringlke, 2 );
beep(};

}
i bkt9==1)

45




2

Il
int ade0 = analogRead|sensor);
Serial. println(" 2dcD ="+ String(adc0));
epan_new = ||adcl - £40.03) / 5.7083)*-1;

Serial. printin(" Rfter epan_new =" + Stringlepzn_naw,

k
Iz
forfie=0;in < 10; io++)
{
WATERVzlug += ha71L.read(} / 1000;
1
WATERVzlug /=10;
WAter_test = map(WATERValue, 5530 10250 ,0 ,100) ;
[ Witer_test <=0 ) Witer test=0;
elseif | Whter_test == 100 ) Whter_test = 100;
Serial print("Water Lavel. ");
Serial.print(WAter_test / 100.0);
Sarial print(" L"),
Serial.print(" ADC "};
Serial printin|WATERValug);
Serial print("itit"};
¥ i
i) Y=ot

epan_new = (WATERValue - 14232) [ 6.6065;

Il

wiasums3afi 2

Jfepan_new =30;
Y
Sarial printin|epan_new, 2j;
myNextion.setCompanzntText|"t103", String(apan_new, 1) |
Serial2.printin['0');

delay{100); |
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i benblz == 1)
{

beep;
enzhle=1;

myMestion, setComponentText|"t356" ) |

int bkt0 = myNextion.getComponentValue["kt0");
int bkt1 = myNextion getComponentyalue{"kt1"];
int bke? = myNextion getCampanentyzlug "kt"];
int bkt3 = myNextion.getComponentValue['kt3");
int bkt4 = myNextion.getCompanentValue["ktd");
int bkt = myNextion getComponentValue("kt5");
int bkt = myNextion getCompanentyzlus( kg™,
int bkt7 = myNextion.getComponentValue("kt?");
int bkt3 = myNextion.getCompanentValue("ktd");

int bkt3 = myMetion. getCompanentyalue("ktd"];

int bke_paint = myNextion. getComponentValus"kt38")

nt bkt_del = myNextion getCompanentValue{"kt3s");
bk =1)
{
Ko +="0";
ke = Kke toFloat();
delay(1000];
H_ _______________________________
myMlestion. setComponentText|"kt22", Stringlke, 2) |
beepl);
]
if{bktl=1)

Set Epan Old




myhextion.setComponentTaxt("t103", String(apan_new, 1) |

setComponentText("t005", String(flow_rate, 1] J;

sstComponentTaxt("t006", [tatal_wind} );
myMextion.setCompanantText"t765", String(humidity) };
myMextion.setComponantTaxt"t765", String(kp, 2} );
myMestion.setComponzntText("t008", Stringltree_radius, 1} );
int bstart = myNextion getComponentValue|"bd"};
int benable = myNextion.gztComponentVzlug|"01");
Serial.printin|" bstart= " + String{bstart]};
Serizl println{" benablz = "+ String(benable));
Serial printin(];
if (settima_begin <=0
{
if { SerialZ.availzble ())
{
String wind = Serial readString();
SerizLprintin(" recive : " + String|wind));
int total_wind1 = wind tolnt{];
Serial.println(" total_wind : "+ String(total_windd]};
total_wind = total_wind1 * 0.0005024 ;
digitalWrite({buzzer, HIGH);
delay(3000);
starts=1;
delay(1000);
digitalWrite{buzzer, LOW);
]

myhlextion setCompenentText("t398", “Auto-Start”);

i - d .
Serial. println(" okl

humidity = dht.readHumidity();
delay(2000);

Serial. println(" humidity : "+ String(humidity]};

Serizl2.printin('0');
digitalWrita{trig, LOW); // Send to reset
delzy(1000);
digitalWritetrig, HIGH];
delay(1000];
settime_begin = 30;
enable=1;
}
if | bstart==1]
{
if { Serial2.available ()
{
String wind = Serial2.readString(;
Serial printin(" start recive : " + String|wind)};
int total_wind1 = wind tolnt();
Serial.printin(" total_wind : " + String|total_wind1)};
total_wind = totz|_wind1 * 0.0005024 ;
Serial.printin(" total_wind ok : "+ Stringitotal_windl, 6));
digitalWrite{buzzer, HIGH];
delay(3000];
digitalWrita{buzzer, LOW);
}
starts=1;
beep {);
enable=1;

myhextion.zztCamponentText("t393", "Start!1"};

2

Serial printin(" s

humidity = dht.readHumidity|};

delzy(2000);

Serial.printin(" humidity : "+ String{humidity]};
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/| steps = EEPROM read(adr_staps];

/| readsensor {];

/

if | Serial2.availzble {))

{
String wind = Seriall readString(];
Serial. printin("recive - * + String{wind});
total_wind = wind.talnt]);
Serial. printin(" total_wind : "+ String(tota]_wind]];

digitalWritalbuzzer, HIGK);

delay[3000];

starts=1;

delay(1000];

digitalWrite[buzzer, LOW];

It Display Page

String date = String(now.day{)| + /" + String(now.month()] + /" + String naw: year(]};
String times = String{now.hour{ ]| + " + String{now.minutaf]) + " + String|now.second]
myhextion.setComponentTaxt{"t003", date);
myNextion et omponzntTest{ 010", times |; */
Jfkp =tatal_wind * humidity;
if( enable =0
{
settime_begin = 1;
r
for fio=0; ia+ 10;io+)
{
WATERValue +=haT1Lrezd]] { 1000; |

WATERVzlue [=10;

Whter_test = map(WATERValue, 5530 10250 ,0 100} ;
if | Wikter_test <=0 ) Wter_test=0;

elsa if | WAter_test == 100 ) Wter_tast = 100;

Serial print|"Water Lavel: ",

Serial print[Whter_test/ 100.0);

Sarialprint(" L");

Serialprint(" ADC ");

Serial println{WATERVzlue);

Serial print["\tt");

epan_new = (WATERValue - 14282) | 6.606%;

If

wflasans 0 L

Jfepan_nawi=50;

Serial print|" epan_new ="};

Serial println{epzn_new, 2);
i
int ade = analogRead|sensor),
Serizl printin(" 200 =" + Stringlade0));
epan_neiw = ([=de0 -£40.09) / 5.7089)*-L;

Serizl.printin[" After epan_nevi =" +Stringlzpan_new,

20

]

myhlextion setComponentText("t102", String(epan_new, 1) |;
delzy(100);

i [ettime._bagin <=0

{

settime_begin=0;

!

myhlextion setComponentText("t856", String[settime_bezin] +"s" J;

myNestion setCompenentText["t002", Stringlke, 2] );

myNextion setCompenentText["t003", String(sm1, 1} |;

myNestion setCompenentText("1004", String(epan_old, 1} );
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digitalWrite{solencid1, HIGH];
digitalWrite{solencid?, HIGH];
digitalWrite{solenaid3, HIGH];
digitalWrite{solencigd, HIGH|;
dhtbegin(l;

myhlzxtion.init{);

Wire begin{); /f Start the 120
RTC.begin{}; /{ Init RTC

I RTC adjust{DateTime_ DATE_, _ TIME_)); /{ Time and date is expanded to date and time on
your computer &t compiletime

1/ end setup
void lap(}
{
DateTime now = RTC.now);
dater = String{now.day(]} +"/" + String{now month{)) +*f" + String[now.year)} ;
tter = String(now.hour(]] + ":* + String(now.minutal}] +":" + String|now.second]]) ;
Serial.printin|dater " " + ttar];
Iz
float ten_thausand_increment = EEPROM. read|adr_increment_ten_thausand) * 10000.00;
float one_thousznd_increment = EEPROM.rezd(adr_increment_one_thousand) * 1000.00;
flaat one_hundred_increment = EEFROM.rezd(zdr_increment_one_hundred) * 100.00;
float one_ten_increment = EEFROM.read|zdr_increment_one_ten) * 10.00;
float one_ane_incrament = EEFROM read|zdr_increment_one_one] * 1.00;
flaat pl_increment = EEPROM read{adr_increment_p1) * 0.10;
flaat p2_increment = EEPROM read{adr_increment_p2) * 0.01;

increment = ten_thousznd_increment + one_thousand_increment + one_hundred_increment +
one_ten_increment + one_one_increment + pl_increment + p2_increment;

)
float hun_gpo = EEPROM read|zdr_epa_hun) * 100.00;
float ten_epa = EEPROM read(adr_spa_ten) * 10.00;

float ane_spa= EEPROM.read(zdr_spa_one) * 1.00;

float pl_spa = EEFROM.read|adr_spa_pl) * 0.10;
float p2_epa = EEFROM read|adr_spa_p2) * 0.01;
epan_old = hun_gpo + ten_spo + one_epo + pl_epa+pl_gpo;
i
flaat hun_flow = EEPROM.read{adr_flow_hun) * 100.00;

flaat ten_flow = EEPROM. read|adr_fiow_ten] * 10.00;
float ane_flow = EEPROM.read[adr_fiow_one] * 1.00;
flow_rzte = hun_flow +ten_flow + one_flow;

if

[fadr_tree ten

float ten_tree = EEPRON.read(adr_tree_ten) * 10.00;
float ane_tree = EEPROM.read|adr_tree_one) * 103,
flaat pl_tres = EEFROM rezd(adr_tree pl)*0.10;
trea_radius = ten_tree +one_trez+pl_tree;

ke = EEPROM, read(adr_kc) / 100.00;

sm1 = EEPROM.read(adr_sm1) [ 10.5;

Serial printin{ "
Serial printin);

Serial.printin];

mem =" + String|EEPROM read(zdr_sm1_bezin] /10.0});

flke

float one_k = EEFROM rezd|adr_ke_one) * 0.10;
float pl_lc = EEPROM.read{adr_ke_p1) * 0.04;

ko =0.00#one_kc+pl_l;
Serial printin| " ke mem=" +Stringlke, 2));
Serial printin);

Serial.printin];

J/tm = EEPROM.read(adr_tm);

1 58z = EEFROM rezd(adr_sac);

1 mins = EEPROM.rezd(adr_minz);

[ starts = EEPROM.read(zdr_starts;
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String tr="";

String sf="";

5tring Epo="";

String Epn="";

int systems = 0;

int dutycycle = 1;

int starttime = 7;

float tm;

float kp;

float kc = 0L60;

float tree_radius ;
float flow_rate;

int checkbp = 1;

float bpp = 1.00;

float epan_new = 17.00;
float epan_old = 20.00;
float epan_cal = 0.00;
float sml=1§;

flaat humidity;

double totzl_wind = 0.00000;
#define pump 23
#define solangidl 25
#define solangid2 27
#define solencid3 29
#define solencidd 31
int rains =7;

#define trig 3

int steps = 0;

int sec =10

int starts;

int enzble = 0;

#include <5P1.h>

#include <50.h>
File myFile; /f afaedian File dwdudennsfaye

const int chipSelect = 53;

#include <Wire_h=

#include <RTClib.h=

RTC_D52231 RTC;

#define sensor AD

void setupl) {
Serizl begin($600);
pinModelsensor, INFUT];
pinhMode{buzzer, OUTFUT);
digitalWrite{buzzer, LOW];
Serial.print"Initializing S0 card...”);
pinModel3s, OUTPUT);
if {150 begin{chipSelect]) {

Serial_printin{"initizlization failed!™);
[freturn; }

Serial_println("initialization done.”);
/fmFile = 5D.open{"test2 txt", FILE_WRITE}; /
pinhodelrains, INFUT);
Serizl2.begin{9800);
pinhodeltriz, OUTPUT];
digitalWrite{trig, HIGH];
pindModelpump, OUTPUT);
pinModelsolenoidl, QUTPUT);
pinhModelsolenoid2, QUTPUT);
pinModelsolenoid3, DUTPUT);
pinhodelsolenaidd, QUTPUT);

digitalWrite{pump, HIGH];
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#include <EEFROM.h=
int adr_epa_hun = 30;
int adr_epo_ten =0;

int adr_epo_one = 1;

int adr_epo_pl =2;

int adr_epo_p2 = 3;

int adr_flow_hun =4 ;
int adr_flow_ten=5;
int adr_flow_one=6&;
int adr_tree_ten=7;

int adr_tree_one = §;
int adr_tree_pl =3;

int adr_kc_ten = 20;

int adr_kc_one = 21;

int adr_kec_pl =22;

int adr_kc = 10;

int adr_sm1 = 11;

int adr_sm1_begin = 12;
String dater = "";
5tring ther ="";
5tring sme="";
String Kkc;

i

int adr_increment_ten_thouzand = 13;

int adr_increment_cne_thousand = 14;
int adr_increment_gne_hundred = 15;
int adr_increment_one_ten = 15;

int adr_increment_one_one = 17;

int adr_incremeant_pl = 18;

int adr_increment_p2 = 19;

intss=10;

int buzzer = &;

float increment = 0.00;
int settime_begin = 30; //
i
#include <02HXT11.h=

const byte hx711_data_pin = &;

const byte hx711_clock_pin=9;

Q2HX711 hx711{hx711_d=ata_pin, hx711_clock_pin};
float WATERValue = 0;

int io;

long WhAter_test = 0;

i

unsigned long previous = 0;

const long interval2 = 1000;
#include "DHT.R"

#define DHTPIN 2

#define DHTTYPE DHT22

DHT dht{DHTPIM, DHTTYFE);
float mm;

#include <SoftwaraSerial.h=
#include <Mextion.h=
ZoftwareSerial nextion(10, 11);
Nextion myMextion(nextion, 3800]);
#define epan AD

f#define rain Al

float mins = 0.00;

float Etc;

float sm;

float T;

float Ei = 0.85;

int ts = 0;
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String tr ="";
String sf="";
String Epo="";

String Epn = "™";

int systems = 0;

int dutycycle = 1;

int starttime = 7;

float tm;

float kp;

float ke = 0.60;

float tree_radius ;

float flow_rate;

int checkbp = 1;

float bpp = 1.00;

float epan_new = 17.00;
float epan_aold = 20.00;
float epan_cal = 0.00;
float sml=1.6;

float humidity;

double total_wind = 0.00000;
#define pump 23
#define solemoidl 25
#define solenoid2 27
#define solemoid3 29
#define solenoidd 31
int rainz = 7;

#define trig 3

intsteps =0;

int sec=0;

int starts;

int enable = 0;

#include <5P1h=

#include <50.h=
File myFile; /f sfazulian File duiudrnisfays

const int chipSelect =53;

#Finclude <Wire.h>

#include <RTClib.h=

RTC_DS3231 RTC;

#define sensor AD

woid setupl) {
Zerizl.begin(3600];
pinhodelsensor, INFUT];
pinMode|buzzer, QUTPUT);
digitalWrite{buzzer, LOW);
Serial_pring["Initializing 8D card...”);
pinhode|ss, OUTPUT);
if (150 beginlchipSalect]) {

Serizl.printini"initizlization failed!”);
J/return; }

Zerizlprintin("initizlization done.”);
JimwFile = SD.open{"test2. txt", FILE_WRITE); /
pinMode{rains, INFUT);
Zerizl2 begin{9600);
pinMode(triz, OUTPUT);
digitalWrite{trig, HIGH);
pinMode{pump, OUTPUT);
pinhode|zolenoidl, JUTPUT];
pinModelsolenoid2, QUTPUT];
pinhode|salenoid3, JUTFUT);
pinModelsclenoidd, QUTRUT];

digital'Write{pump, HIGH];
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digitalWritz{salznaid], HIGH];
digitalWrite{solenaid?, HIGH);
digitalWrite{solenaid3, HIGH];
digitalWrite{sclenaid4, HIGH];
dht.begin();

myNextion.init|);

Wira begin(); // Start the |2C
RTC.beginl); /{ Init RTC

J/ RTC.adjust|DateTime(__DATE
yyour computer st compilstime

__TIME_J); // Time and date is 2xpanded to date and time on

1/ end setup
void loop)
{
DateTime now = RTC.nowi(];
dater = String{now.day()) + "/ + String{now.manth()} +*(" + String(now.year()) ;
tter = String(now.hour|J) + " + String{now.minute(}] +"." + String{now.second()) ;
Serial.printin|dater + " " + tter);
Iz
float ten_thousand_incrament = EEPROM.read|zdr_increment _ten_thousand) * 10000.00;
float one_thousand_incrament = EEFROM.read|adr _increment_one_thousand) * 1000.00;
float one_hundred_increment = EEPROM.rezd(adr_increment_one_hundred) * 100.00;
float one_ten_increment = EEPROM read|zdr_incrament_one_ten) * 10.00;
float one_one_increment = EEPROM rezd(zdr_increment_one_ong) * 1.00;
float pL_increment = EEPROM read{adr_increment_pl) * 0.10;
float p2_increment = EEPROM.read(adr_increment_p2) * 0.01;

increment = ten_thousand_increment + ane_thousand_increment + one_hundred_increment +
one_ten_increment + one_one_increment + pl_increment # p2_incrament;

2
float hun_spa = EEPROM.read(zdr_epo_hun) * 100.00;
float ten_gpo = EEPROM.read(adr_spo_tan) * 10.00;

float ane_epa = EEPROM rezd|zdr_epo_one] * 1.00;

float pi_epo = EEPROM.read|zdr_epo_p1)* 0.10;
float p2_epa = EEPRCM.read(adr_epo_p2) * 0.01;
epan_old = hun_epo + ten_epa +one_epo +pl_epa+pl_epa;
i

flaat hun_flaw = EEPROM.read(adr_flow_hun| * 100.00;

float ten_flow = EEPROM read{adr_flow_ten] * 10.00;
flaat ane_flow = EEPROM.rezd(adr_fiow_one) * 1.00;
flow_rate = hun_flow + ten_flow + ane_flow;

i

J[adr_tree_ten

float ten_tree = EEPROM.read|zdr_tree_ten) * 10.00;
float ane_tree = EEPROM read|zdr_tree_one| * 1.00;
float p1_tre2 = EEFROM.rezd(adr_tree_pl) * 0.10;
tree_radius = ten_tree + ong_tree +pl_treg;

ke = EEPROM read{adr_ke) / 100.00;

sm1 = EEPROM.read(adr_sm1} [ 10.0;

Serial.printin{ " mem=" +String{EEFROM. read(adr_sm1_begin} / 10.0));
Serial printin();

Serial. printin();

i
Jke

float ane_ke = EEPROM.read(adr_ke_one) * 0.10;

float p1_lc = EEPROM.read(adr_ke_pl)* 0.01;
ke=0.00+one_ke+pl Ic;
Sarial printlnf " ke mem =" +String(kc, 2));
Serial. printin();

Sarial printinf];

J/'tm = EEPROM read(adr_tm);

/s = EEPROM read(adr_sec);

/{ mins = EERROM.read(adr_mins);

/| starts = EEFROM.read|adr_starts];
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|/ staps = EEPROM.read(adr_steps);

/| readsansar {);

/

if { Serial2.available {)

{
String wind = Serizl2.readString];
Serial. println|"racive : " + String{wind));
total_wind = wind.tolnt();
Serial. printin(" total_wind ;" + String{total_wind]];

digitalWrite{buzzer, HIGH);

delzy(3000);

starts=1;

delzy(1000);

digitalWrite{buzzer, LOW);

Jii Display Page

String date = String{now.day()] < "/* + String[now.manth{]] + " " + String{now year(]};
String times = String{naw.haur)) + "' + String{now.minute{]] + ":" + String{naw second)];
myNaxtion zetComponentText{"t003", date);
myhextion s2tCompanentTaxt{"t10", times |; */
[kp =total_wind * humidity;
it enable==0|
{
settime_begin = 1;
P
for [io=0;i0 < 10; io*+)
{
WATERVzlue += ha711.rezd] / 1000; }

WATERValue [=10;

WAter_test=map[WATERValue, 8530 10250 ,0 ,100) ;
i (WhAter_test <=0} Whter_test=0;

else if | WAter_test == 100 ) Whter_test = 100;
Sarial.print("Water Lavel: ");

Sarial print[WAter_test [ 100.0);

Serial.print(" L7);

Serial.print(" ADC ");

Sarial printin{\WATERValue];

Sarial print]"\t\t");

epan_new = (WATERValue - 14282} / 65058,
Il wagan 3t 1

{Jepan_new=50;
Sarial.print(" epan_new ="};
Serial printin|epan_new, 2;
*f
int adcl = analogRead|sansar);
Serial printin]" 2dc0 ="+ String|adc0});
‘epan_new = ({ade0 - 640.03) /5.7083)*-1;

Sarizl printin("

2);

myNextion setComponentText("t103", String(epan_new, 1) )

Aftar epan_nzw ="+ Stringlzpan_new,

delay[100);
if {settime_begin <=0}
{
settime_begin =0;
i
myNextion. setComponantText"t356", String(settime_begin] "' 5" |;
}
myMextion.setComponentText|"t002", String(ke, 2) );
myMextion.zetComponentText(t002", Stringlsmi, 1} |;

myMextion.setComponentText|"t004", Stringepan_old, 1) )
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myMextion.setCompanentText("t103", Stringlepan_new, 1) };
myhlestion.setComponantText("t005", String(flow_rate, 1) );
myhlastion.setCamponentText"t008", String(total_wind) };
myhlextion.setCamponentText("t765", String(humidity) J;
myhlaxtion.setComponentText"t766", String(kp, 2} ;
myhlastion.setCamponentText("t008", String(tree_radius, 1) );
int bstart = myNextion getComponentValug("b0");

int benable = myNextion getCompanentValus("s1");

Sarial printin|" bstart= "+ String|bstart)};
Serizl print/n|" benzble = "+ String|benable]):
Sarizl.println]);

if (sattime_bagin <=0
{
if | Serial? available (])
{
String wind = 3erizl readString();
Serizl println(" recive : "+ String[wind]);
int total_wind1 = wind.talnt(};
Serizl println(" total_wind : "+ String[totzl_wind1)};
total_wind = totsl_windl * 0.0005024 ;
digitalWrite{buzzer, HIGH);
delay(2000);
starts=1;
delay(1000);
digitalWrita{buzzer, LOW);
}
myNextion.setCompanentText('t393", “Auto-Start™);
Saria printin[* S
humidity = dht.readHumidity|);
delzy(2000);

Serizl printin{" humidity = "+ String(humidity}:

Sarizl2.printin{'0");
digitalWrite{trig, LOW]; // end to resat
delay[1000);
digitalWrite(trig, HIGH];
delay{1000};
settime_begin = 30;
enablz=1;
}
if | bstart==1]
{
if | Seriall.available {))
{
String wind = 3erial2 readString();
Serial.printin" start recive : "+ String(wind));
int total_wind1 = wind tolnt();
Sarial.printin" total_wind : "+ Stringtotal_wind1]);

total_wind = total_wind1 *0.0005024 ;

Sarial printin" total_wind ok : " + String|total_windl, 6));

digitalWrite{buzzer, HIGH);

delay(3000};

digitalWrite|buzzer, LOW);

}

startz=1;

beep ()

enable=1;

myhextion setCompanentText{"t395", "Start!!!");
Serial printin(" Gham
humidity = dht.readHumidity(};

delay(2000);

Serial.printin(" humidity : "+ String{humidity)};
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I

int adc0 = analogRead|sensor);
Serial println|" adc0 ="+ String(adc0]);
epan_new = [2dc0 - £40.0) / 5.7089)*-1;

Serial.println|"

2}
’
for fio =0; 0 ¢ 10; i)
{
WATERVzlug +=hx711read]) [ 1000;
]
WATERVzlue [=10;
WAter_tast = map[WATERValug, 5530 10250 ,0 100 ;
if | Wihter_test <=0 ) Whter_test=(0;
else if | WAter_test »= 100 ) Witer_tast = 100;
Serial. print{"Water Lavel: ");
Serial print[Witer_test /100.0);
Serial. print[" L');
Serial.print[" ADC ");
Serial println(WATERVzlug];
Serial print["\tit");
I s
| vedAl

epan_new = (WATERYzlue - 14282} / 6.5065;

[fenan_new =30;
*f
Serial printin(epan_new, 2;
myNextion. setCompanentTaxt|"t103", String[epan_new, 1) };
Serial2println['D;

delay(100); |

Aftar epan_new ="+ String(epan_new,

ullasma e 2

if | benable =1
{
beep |
enable=1;

myMlextion setComponantText|"t356",**); }

Set Epan Old

int bkt0 = myNextion. getComponentValue["kt");
int bkt = myNextion. getComponantValue["ktl");
int bkt2 = myNextion. gztCompanentValue["k2");
int bkt3 = myMextion. gztComponentValug["k3');
int bkt4 = myMextion.getComponentValue|"ktd");
int bktS = myNextion. getComponantValue[kt5");
int bkt5 = myNextion. getComponentValuel"kE");
int bkt7 = myMextion.getCompanentValue("kt7"];
int bkt3 = myMextion.getCampanentValue("ktd'];
int bkt3 = myextion.getComponentValue|"ktd"];
int bkt_point = myNextian. zetCompanentValual"kt28");
int bkt_del = myNextion. getComponentyalue "kt38");
i bk ==1]
{
K +="0";
ke = Kie toFloat]);
delay[1000);
,‘)‘_ _______________________________
myMextion satComponentTaxt|"t22", Stringlke, 2} );
besp();
}
i [t = 1)
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Ko +="1";

ke = Kk toFloat|);

delay[1000];

myNexstion.setComponantText("kt22", Stringlke, 2) J;
beepl}; }

#bkt2==1)
1

Kl +="2";

ke = Kke.toFloat();

delay[1000];

myNextion.setComponentText("kt22", Stringlke, 2) ;
beapl); }

i bkt3 =1
i

Kke +="3";

ke = Kkc.toFloat();

delzay[1000];

myNegtion.setComponentText("kt22", Stringike, 2) J;

beepi];

i

if | bkt =1
i

Kk += "4";

ke = Kke.toFloat();
delay[1000];
myNextion.setComponentText("kt22", Stringlke, 2) );

beepi];

i

(b5 ==1)
{

Kie += "5";
ke = Kke toFlozt();
delay([1000];

myMextion.setComponentText("kt22", String(ke, 2) J;

beepl(];

i

i bktE==1)
{

Kke += "6";

ke = Kke toFlost();
delay[1000];

myhextion.setComponentText("kt22", String(ke, 2) J;

beapi);

]

i [ bktT==1)
{

Kk +="7"

ke = Kkc.toFloat();
delay[1000];

myNextion.setComponantText("kt22", String(ke, 2) J;

beep(];

i

if [ bktd==1)
i

Kk += "3"

ke = Kke toFloat();

delay([1000];

myMextion.setComponentText("kt22", String(ke, 2) J;
beepl);

i
if (bkt3==1)
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{
Kk +="3";
ke = Kk toFloat|);
delay[1000];

myMNextion.setComponentText("kt22", Stringlke, 2) ;

beep();
]
if | bkt_paint==1]
i

Kiic += "1

ke = Kk toFloat|);
delay[1000);
myMNextion.setComponentText("kt22", Stringlke, 2) );
beep();
i
if | bkt_del == 1)
{
Kk = ™
ke = Kk toFloat|);
delay[1000];
myMextion.setComponentText("kt22", Stringlke, 2) J;
beep();
]
int kcs = ke * 100;
char datak[5];
String(kcs).toChar&rray(datak, 5);
if | kes <=99 )
{
int one = datak[0] - 48;
int pl = datak[1] - 48;

EEFROM.write(adr_kc_ten, 0;

EEPROM write(adr_kc_one, ang);
EEPROM.write(adr_kc_pl, pl};
myhlextion.zetCamponentText("kt22", Stringlke, 2) J;
]
/
i [ kcs = 100 B8 kes <= 995
i
int ten = datak[{] - 48;
int one = datak[l] - 45;
int pl = datak[2] - 48;
EEPROM write(adr_kc_ten, ten);
EEPROM .write(adr_kc_one, ane);
EEPROM write(adr_kc_pl, pl};
myMextion sstComponentText("kt22", Stringlke, 1) J;
i
4
if

Tree Radius
int bs0 = myNextion.getComponentValue("bs0");
int bs1 = myNextion.getComponentValue(™bs1");
int bs2 = myNextion.getComponentValue("bs2");
int bs3 = myNextion.getComponentValue("bs3";
int bs4 = myNextion.getComponentValue("bs4");
int bs = myNextion.getComponentValue("bs5");
int bsE = myNextion.getComponentValue("bsg");
int bs7 = myNextion.getComponentValue("bs7");
int bs2 = myNextion.getComponentValue("bs3");
int bs% = myNextion.getComponentValue(™bs3");
int bs_paoint = myhextion.getComponentVzlug("bs83";

int bs_del = myNextion.getComponentValus("bs35"];
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i bsD==1)

i

r+="0"

tree_radius = tr.toFlost();
myMextion.setComponentText("t014", String(tree_radius, 1) );
beapl);

i

iF{bsl==1)

{
wr="1"
tree_radius = tr.toFlost();
myMextion.setComponentText("t014", String(tree_radius, 1) );
beapl);

i

i bs2==1)

{
tr+="2";
tree_radius = tr.toFlost();
myMextion.setComponentText("t014", String[trea_radius, 1) J;
beapl);

i

if|bs3==1)

i
r+="3";
tree_radius = tr.toFloat();
myMextion.setComponentText("t014", String[trea_radius, 1) ;
beapl);

i

if|bsd==1}

{

tr+="4";

tree_radius = tr.toFloat();
myMextion setComponentText("t014", String[tree_radius, 1) ;
beepl);

}

if(bss==1)

{
tr+="5";
tree_radius = tr.toFlost]);
myMNextion sztComponentText("t014", String[tree_radius, 1) J;
beepl);

}

i bs6==1)

{
tr+="g";
tree_radius = tr.toFlost]);
myNextion.s=tComponentText["t014", String[tree_radius, 1) J;
beepl(};

}

i bs7==1)

i
tr+="7";
trea_radius = tr.toFloat{);

myMextion.sztComponentText["t014", Stringltree_radius, 1) J;

beepi];
i
i (bsB==1)
{
tr+="8";
trea_radius = tr.toFloat{);

myMextion s=tComponentText["t014", String[tree_radius, 1) );

beepl);
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i
if(bsg==1)
{
tr+="3",
tres_radius = tr.toFloat();
myMextion setComponentText("tD14", String[tree_radius, 1) );
beepl);
i
if | bs_point =1
i
tre="",
tree_radius = tr.toFloat[);
myhaxtion setComponentText("tD14", String[tree_radius, 1) );
beapl);
i
if | bs_del==1)
{

tree_radius = tr.toFloat[);
myhaxtion setComponentText("tD14", String[tree_radius, 1) );
beepl);
EEPROM . write(adr_tree_ten, 0;
EEPROM.write|adr_tre=_one, 0J;
EEFROM.writeladr_trea_p1, 0};
i
int trds = tree_radius * 10; //9.5 ,45.4
char datac[5];
String(trds).taCharArrayldatac, 5);
if (trds<=33 )
{

int one = datac[D] - 48;

|

it[bmdz=1)
{

degn

flow_rate = sF taFloat();

myMextion setCompanentText("t016" String(flow_rate, 1) )
beepl);

|

if | bm_paint==1)
{

=t

flow_rate = sF taFlat();

myNextion s2tComponentText|"016", String[flow_rate, 1) |
beanl;

!

if| bm_del =1)

{

e

flow_rate = sF taFloat(};

EEPROM swrite(adrflow._hun, 0j;

EEPROM swrite(adr_flow _ten, 0;
EEPROM.write(adr_flow_ane, 0];

myNextion s2tCompanentText|"t016", String[flow_rate, 1) )
beanlf;

|

(] i {bm0==0 &8 bm1 =0 &8 bm? =0 &8 bm3 =0 & bm4 == 0 &% bm5 =0 && bmfi =0

B8 bm7 ==0 &% bm == 0 &8 bm3 == (]

il

int fiovws = flow_rate; // 10-939

{/Serial printin(" flows= "+ Stringfflows));

char datas(5];
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Seriz|2.printin{'0");

digitalWrite{trig, LOW); // Send to reset
delay(1000);

digitalWrite(triz, HIGH);

delay(1000);

settime_begin = 30;

enable=1;
}
if | bstart==1)
{

if { Serial2.available {))

{

String wind = Sarial2.readString();

Serial.printin(" start recive ;" + String|wind]);

int total_wind1 = wind_telnt();
Serial.printin(" total_wind : "+ String|total_windd]);
total_wind = totzl_windl ® 0.0005024 ;
Serial println(" total_wind ok : " + String|total_windl, &));
digitalWrite(buzzer, HIGH);

delay(3000);

digitalWrite|buzzer, LOW);
}
startz=1;
beep ();
enable=1;

myMextion setComponentTaxt("t393", "Start!!!");
Serial printin[" G 7
humidity = dht.readHumidityl);
delay(2000);

Serial.printin(" humidity : " + String(humidity];

mins += 1,
sec=0;
/{  EEFROM.write(adr_sac, sec);
/! EEPROM.writeladr_mins, mins);
]
/ String ttt = "Time = " + String[mins) + "." + String|sec) + " ";
String ttt = "UT="+ String(tm, 2} +",CT=" + String(mins) + “." + Stringsec) + " "
myNextion setComponentTaxt("t395", tit);
/I Serial printin(" ming ="+ String|mins}};
/| Serial.println{" sach ="+ String(sec]);
I Serial printin{" Value 4-ON";
digitalWritelsclenidd, HIGH); // value 1-ON
digitalWrita{sclenaid2, HIGH];
digitalWrite|solenoid3, HIGH);
digitalWrita{solenaid4, LOW);
}
if | [mins + sec/ 100.00) * £0.00 = ts B& steps ==3 )
1
myMextion.setComponentText{"t333", “Finish4");
Serial printin(" Value 4 - OFF ";
digitalWrite{solenoid, HIGH];
digitalWrite{sclenaidZ, HIGH);
digitalWritelsolenoid3, HIGH);
digitalWrite{sclenaid4, HIGH];
delay{1000);
Serial printin{" Pump - OFF");
digitalWritelpump, HIGH); /{ pump OFF
delay(3000);
epan_old = epan_new;

int e2po = apan_old * 100;
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char data[g];

String[eepo) toChararrayidata, 6);
i
if [ eepo<=993 )
i

int one = data[0] - 48;

int pl=data[l] - 48;

int p2 = data[2] - 48;

EEFROM. write(adr_spa_hun, 0);
EEFROM. write(adr_spo_ten, 0);
EEFROM.write(adr_spo_cne, one);
EEFROM.write(adr_spo_pl, pl);

EEFROM . write(adr_spa_p2, p2);

myNexstion setComponentText["t100", String(epan_old, 1} |;

i
if | eepo »= 1000 && eepo <= 3999 )
{
int ten = data]0] - 48;
int one = data[1] - 48;
int pl = data[2] - 48;
int p2 = data[3] - 48;
EEFROM. write(adr_spa_hun, 0);
EEFROM . write(adr_spao_ten, ten);
EEFROM. write(adr_spo_cne, onel;
EEFROM.write(adr_spa_pl, pl);

EEFROM. write(adr_spa_p2, p2);

myNextion.setComponentText["t100", String{epan_old, 1} |;

}
i
if [ espo == 10000 && sepo <= 93395 |
{

int hun = datz[0] - 48;
int ten = data[1] - 48;
int one = data[2] - 48;
int pl = data[3] - 48;
int p2 = dzta[4] - 48;
EEFROM.write(adr_spo_hun, hun);
EEFROM.write(adr_epo_ten, ten);
EEFROM.writeadr_spo_one, onel;
EEFROM.write(adr_epo_pl, pl);
EEFROM.write(adr_spo_p2, p2);
myMextion.setCompenentText["t100", Stringlepar_old, 1) );
i
{1 delay{1000);
zec=10;
steps =0;
starts =10
/! EEPROM . write{adr_sec, sec);
{/ EEPROM . write{adr_starts, starts);
/! EEPROM.write|adr_steps, steps);
1
}
11 end millis
1 end loop
void beep ()
f
digitalWrite[buzzer, HIGH];
delay(30);
digitalWrite[buzzer, LOW];
delay(30);
!
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